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MILESTONE REVIEW Coach Book -- Unit 5

Date Period
Graph the image of the figure using the transformation given. Then write the vertices of the image.
270°cew
1) rotation 90° clockwise about the origin 2) rotation 180° about the origin
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Write the vertices of the image after the given transformation.

5) reflection across the y-axis[ change sigh of % ) 6) rotation 90° counterclockwise about the M'jn

A(1, -1), B(-2, 3), 8(3, 3), M4, -2 (-x, Y ) | origin

G(~1, +4), c(1, 1), A3, 0), ¥{(3, -5) Hen ordor
E(—l.-l) 8'(23) S(33) V(-4-2)| (-4,x)

| (e ) Flo,?) Y

Find the coordinates of the vertices of each figure after the given transformation.

7) reflection across the x-axis e sign of y 8) reflection across y = x switth order (j x)
S(-5, 44), B(-2, 0), 7(0, 13) (x,~y) o(1,0), ¥(0, 4), M1, 4), E(3, 1)
A) B1(0y0), T(-2,-3), S(3, -4) A) ¥{(-4,0), N4, -1), E{-1, -3), 0(0s1)
@ €) B(-2.9), 70, 3), S1=5.4) B) r(0,0), N (1, 0), E(3, 3), 0'4s%)

) 810,2), 71(3,0),5(4,5) © r(4.0), v(4, 1), £(1, 3), 010, 1)
D) B(0,-2), (-3, 0), S(-4, -5) D) 110, -4), N(1, -4), E(3, -1), 0{1s0)



Pl 3) —= P'(6,1)
(no, -2>
9. Point P at (-4, 3) is translated to form image, point P', at (6,1). Write a function to represent the
translation. If point R+(l-§'>,_§_) and point 84(119 '2) are also translated using/the rule, what will be the

coordinates of their images? R (6, H) S'il 1, 0)

(X‘.j)—a()(ﬂo)y_g) - <w),2>

10. : X Quadrilateral JKLM and its refiected image are shown. Which
EEREIRP ISR EN statement is true of these two quadrilaterals?

—

a) The image shows the result of a reflection across the x>agis.

The path that point L takes across the line of reflection is
perpendicular to the line of reflection. /

X
¢) Each point (x, y) on quadrilateral JKLM maps to point ngx? on its
image.

d) Corresponding sides of quadrilateral JKLM and its image are

paﬂel.

11. Which sequence of transformations can 12. AABC is transformed to A4'B'C".
be used to map AMNPonto AM'N'P'? Which statement is NOT true? g@
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dilation by a factor of % followed by A. This transformation shows the image of -
a translation 4 units down _ . AABC after a 270° rotation about the origin
B. dilation by a factor of % followed by B. This transformation preserved the distapees
- a 270°r<i?ﬁion(,,,,;\a 6”‘%’; M 5" and angle measure of the original figure.
C. vertical shrink'by a factor of ¥ followed @ Sides AB and A'B'lie on lines that are
by a translation 4 units down papglfél to one another. X
D. vertical shrink by a factor of % D. Sides BC and B'C' lie on lines that are
followed by a 27$°E'tation perpendicular to one another. ¥~




